Holy innnocents’ Primary School

Topical Test 2 - 2015

Instructions:

1. Do not turn over this page until you are told to do S0.

Primary Two

Mathematics

Duration: 50 minutes

2. Follow all instructions carefully.

3. Answer all questions.

Name:

Obtained Max.
Section A 18
Section B 20
Section C 12
Total 50
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question, four options are given: One of them is the eorrect answer,
Correct answer and shade the:Coftect oval in the Optical Answer

1)

2)

3)
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S.aroups of 4 is the sarne as

(1)5+4 B)4+4+4+4+4
(2)5+5+54+5 (4)4x_{{-)"<4x4x_4
The school hall is about |  ? long.

(1) 7 em (3) 7 m

(2)70cm (4) 70 m

The bathroom scale below shows Alan’s mass.

™
el

What is Alan’s mass‘? |
(1) 63 kg - (3) 73 kg

(2) 67 kg (@) T4 kg

Mother baked 35 cogkies She put the cockies £qually info seven plates
How many cookies were there on each plate?

(1)5 -~ (3)28

(2)7 (@42 -

o . Score: | . ,
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JUestons v-and:s.

=—38 Screwdriver
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5)  What is the length of the hammer?
(1) 10cm (3) 12cm

2) 11cm (4) 15cm

6)  The length of the screwdriver is the sameas | ? |pails,

(1) 5 ‘ (3) 12

(2) 10 : (4) 4

7)  The diagram below shows the mass of 2 carrots.

What is the mass of 6 carrots?
(1) 220¢g (3) 660g

(2) .250g (4) 750¢g

2]
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. Suiiky wie taDie below carefully and.answer question:8.

“ltem - MEss
A story.book 100 g
Ato;rtc:ar . 4 145_9 :
A stuffed toy 75g
A sharpener . ..50g.
A toy sword 95 g
8) What is the difference in mass between the heaviast and mt_h@ﬂl_i_“gﬁtﬁ_gg
item?
(1) 45¢g (3) 70g
(2) 50g¢ . (4) 95¢g

9) Trees are planted at equal distances apart as shown in the diagram
below. The 1% tree is 12 m away from the 4 tree:

1St

e 12 m | L

How far apart is the 3" tree to the 4™ tree?
(1)16m 3)3m

(2)48 m (4)4m

- End of Section A --

) - 3. . o Score: | -
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‘ur answeérs in the umts Stated.
.Show your workings clearly where. appropnate

10) 8 x 4= ?

11)  Draw a line that is 6 cm long in the box below.

12)  Jane measures a string as shown below and cuts it equally into
2 smaller pieces.

—
T

How long is each piece?

cm

13)  Study the diagram below carefully.

What is the mass of the toy car?

4 o E . Score:
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15)
mass of the apple?

16a) Which fruit is heavier?

b} How much heavier is that fruit?
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bunch of

If the mass of the bunch of bananas is 250 g, what is the

» bananas

. Score: |
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What is the missing number in' the box?

18)  The supermarket-gives 2 free toys for every 4 packets of milk bought.
Mother bought 24 packets of milk.
How many toys would she receive?

19)  Paul shares 20 swegts with 4 friends,

How many sweets will each of them get?

- End of Section B -

b6 ) ) _Score:

Rroperty of Holy Innocents’ Primary School



svenax NP F .

' thefollowmg prbbiéfﬁ“s"".’ Show your working clearly in the given spaces.

20y * “Mi Tan's mass is-73-Kg.

e d ame e m me T B A Y e e hn

He is 25%kg heavier. than Mrs Tan.

What is the mass of Mrs Tan? -

21}  Anne walks 475 m from her home to her school each day.
She takes the same path back to reach home after-school.

How far does Anne need to walk to school and back home from school?

. )
. . ‘ +
. . . B AR Score: l o ]
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eL)  -REHIHY-LUYS £ ROXES OF GOnuls TOF NIS Trends.
There are.12.donuts in.each box.
He gives 3 d’d_r.'l_l;ts to each friend and has no donuts left.
How -many:frien,dé aré—-fhére;?

- End of Paper -

o . g Score:
* 2aerty of Holy Innocents’ Primary-School . - : e
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EXAM PAPER 2015

LEVEL : PRIMARY2

SCHOOL : HOLY.INNOCENTS’ PRIMARY SCHOOL
SUBJECT : MATHEMATICS
TERM  : TOPICAL TEST 2

Q1 Q2 | Q3 Q4 Q5 Q6 Q7 Q8 Q9
3 4 2 1 2 1 4 4 | 4

Q10.32

Q11 6cm

Q12.5cm
Q13.110g

Q14. SEEPICTURE
Q15.30g

Q16. a) bunch of bananas
b) 220g =¥ 250g-30g=220g

Q17.9 > 45+5=9

Q18. 12 toys ¥ 24:4=6, 6+6=12

Q19. 4 sweets & 4+1=5,20+5+4

Q20. The mass of Mrs Tan is 48kg. & 73kg-25kg=48kg
Q21. Anne has to walk 950m. 475m+475m=950m.

Q22. There were 8 friends. ¥ 2x12=24,24+3=8

14)  Circle the balls shown below to show groups of 2 balls each.

Get PSJ Private Tutor to Guide you th.roug.h Exams Now!
Contact www.privatetutor.com.sg
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